1. EEETH A HEBERAILT

ver123 SH6E (2024%F) 3A318 Wi
1 MEREXRIER
EEREH  |(FTREEE FRfEis |FmEHET15%F105 RS |HREpH X
KO |HEHERER hoiE |RELE N (HEE
EMR [AEZESLEEFEN £EFBEXLR MERS |1THREE (N+H)
BEEER |[fEEEE [ BOREEREL2— ILIANL——EXHXREFERKR R24.1~R7.3.31]
RERI |HEBEEL HETRSEESG
WEEFROSEGHEBEXLERELT TRABLFEST- (38
FHEEMN |HOREOCEH BERVNIT—VEFALEREORE, F1 (B
BH, REFEEHET S
T | mAEE 887.95 m ERS |mAH
= | memm |- - ®E |-
]| HmEE 887.95 m F@ithisl | Tl
B |SBHaryU—hE
2| BEER 872.29 m REd  |Hh 2R
,Tg E~ER 1,335.92 m SR EE 551.29 m
W B2EEE FRL145 (20024F) | BRIBEHK 215
it FA 4 4 K505 MEXE |RITEEES
BEEERT x HEKE | x BRERKE | x BKKE [ x IBKEFE | x NLKF | x FZREL [ x  BE
MEEEHE |F MeFEFEEL LR PREEE FIHEE, BREE, BENEE, EERAR
2 EEFRBEA: A, TH)
I5H R1 R2 R3 R4 R5 IR
Jl)r} SRR FHH 200
Al zofs 35 31 31 27 26|  ° I A
& (A) 35 31 31 27 26 Aiﬁﬁ I
H&E A 600 " - o " e
A RIEE
g AL RS 3 HBIS (B FF)
E 5B
AHE E
<[ =zmn
EHERF 453 336
FEKEE
HEEEM L NS+ ERRE BiENF
ZDH HEKEE w EEEEH = Z0ft
&t (B) 453 336 A%
%3 (A-B) A 418 A 305 31 27 26| ) oo
FIRAA 21,664 18,242 20,050 19,536 19,854| 0o \/\_’
F (FHD) 18,000
E €:25D) 21,664 18,242 20,050 19,536 19.854| w000 N N . N
n| BEEH 266 253 276 281 283
1By ORIAE 82 73 73 70 71 —RRAR




3 WREZMHER

No. Fit 2 7 BEER | E~ER #E

R 2%

BEFE | RAFH

Ol OIN]|—

—_
o

4 R2iER

TEREE

.| EieF R G

=
S

E#E(FH)

ZEE

Ol N]O|lOa|ldlWOWIDN]—

—_
o

—_
—_

_
N

_
w

—_
K

15

5 {&%E

-FAE%: FRL 154 R 48

E—DEERLICHEN, LERFIETYHEELOESRRELTER
FIAANKIE, EHARK

EEETEREHE HRHEZLEHOHREEEISFTL




